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2. HIRARAE ~ FRAMBIRMEL > Rt/ -
L ARLEHRELRLEXIETMAKSL  FAXR TS -

BiEA > 54 [3] » 0 204 [60] o -

. $A B PrH Aty NERRIKAE R K $ BT oaA47 (A) K4 (B) #H&H# (O
x# (D) 5L#% -

2. Folehpe Ak (amino acids) ¥ » & eyt v 24 A4 (L form)F= 44 (D
form)#9 & %? (A) proline (B) leucine (C) alanine (D) glycine °

3. k& gtha-helix &MY » LA7| L@F A& HRT IUTHEERELK? (A)
cysteine (B) histidine (C) proline (D) isoleucine °

4. FoIehB4ERNAs P T2 R EBmb Pt E4E&S? (A) tRNA (B) snRNA
(C) rRNA (D) mRNA -

5. Tol&Z A et ~ pdkeh ik MEFTURFE R BEZRA? () HE#ETI
MBI TR E (B) e outisEaR4rE (C) SDS PAGE (D) #iskéx
Rk e

6. 12 2% hexokinase ¥ fructose &9 KM f&,% 1. 48 mM » ¥ glucose #9 KM &2 0. 15 mM >
AR AT & B E A B E 46y RAE H (substrate)? (A) fructose (B) M #&#FR
1 (C) glucose (D) AR B #aytatFAR 2 » Bkl A @ay A A -

7. F#leh lipids ¥ » I HF AR ¢ H AL Wiafb e ba it L7 (A)
phosphoacylglycerols (B) cholesterol (C) glycolipids (D) triacylglycerols

8. Ascorbic acid X T#%% F #4742 (A) vitamin C (B) vitamin Bl (C) vitamin
B6 (D) vitamin H - '

9. FHIthiztkEaB Y » TH5 R A HEERAK? (A) AUG (B) UGA (C) CGC (D) UAC »

10. A7 8% (glycogen) 48 8 % o 2 14 & 4 o9 —(A8E R » F » # A glycolysis # R
pyruvate » fedafpif 464869 ATP 74 » 48T & 4 % 048 ATP? (A) 1 (B) 2 (C) 3 (D)

40

/A

11, Az & 4 64 323345 A (translation) & » F #1474 & F MM ALAKSE (peptide
bond)&y 4 /2 (A) peptidyl transferase (B) elongation factor EF-Tu (C)

elongation factor EF-G (D) elongation factor EF-Ts -

12. Folehst & o (8T RERMmin P £ 4 & A (negatively supercoiling)
DNA? (A) primase (B) gyrase (C) helicase (D) type I topoisomerase °

13. Ad e B2y G F1hae b > FolT4 4 T cytochrome oxidase? (A) Complex I (B)

Complex II (C) Complex IIT (D) Complex IV e
4. F 5648548 F » 7% 7T LA4E 2 hexokinase #) R &% & (substrate)? (A)

fructose (B) glucose (C) mannose (D) MA LB °

15. @ L% B AMA T » Hecarnitine 89 BB FERA T ATAE? (A) 12
waEsE R A A (B) Rismnn (O ReBREawEEs (D) Rk

16. Folayse i & » {1 % Glycolysis @2 v Z E Loy E g8 %? (A) Enolase (B)
glucokinase (C) phosphofructokinase (D) phosphoglycerate kinase °

17. FolgEe i » EFRAUNAD A EIBREER FoIETFHLEZ? (M) malate
dehydrogenase (B) pyruvate dehydrogenase (C) succinate dehydrogenase (D)

o-ketoglutarate dehydrogenase °
18. F 69X B ek 4@ b » 474 T 24 & 4 # NADP? (A) pentose phosphate pathway (B)

citric acid cycle (C) B-oxidation (D) fatty acid synthesis e
19. %442 8% matrix 2249 acetyl-CoA #9if & i85 0% > B 8 & 6 78 P & akde ] 7 (A)
citrate synthase (B) pyruvate dehydrogenase (C) fumarase (D) aconitase °
90. FHH— e hismd » HMABNRAG L EHAE? (A) Val, Leu, Lys (B)
Cys, Pro, Tyr (C) His, Glu, Ile (D) Met, Thr, Arg-

. What are the differences between oxidative phosphorylation and
substrate-level phosphorylation? [10] % -

+ A bacterial chromosome has 8 x 10° base pairs (bp) of DNA. Please answer

following questions:
1. How many is its molecular weight. [5)] % -
9. How many the chromosome molecules are in one gram of DNA? [5] &

. Some bacteria can utilize lipid to synthesize glucose, but we cannot. Please

explain it. [10] %

Yeast cannot convert glucose to alcohol when oxygen concentration is high

in its surrounding. Please explain it. [10] %



